KIT - 57K3492

UNDERBODY PROTECTION (M998A AND M1113 WITH WINCH)

3/25/04

1KIT
AMG PART # QTY
r# | if different NOMENCLATURE PER/KIT NOTES
APPLY MIL-STD-130 PLASTIC LABEL TO ITEMS
HIGHLIGHTED IN BOLD. (SEE PRINT IF *)
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
50N |MS90728-64 |SCREW, 3/8-16X 1 1/2 2 APPLY SEGREGATED PACK NO. 1 LABEL.
MS90728-34 |SCREW, 5/16 - 18 X 1 12
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
SCREW, 3/8 - 16 X 2 1/4 1 |APPLY SEGREGATED PACK NO. 2 LABEL.
13N {MS90728-61 |SCREW, 3/8-16X 1 1/8 7
MS90728-71 |SCREW, 3/8 - 16 X 3 1/ 5
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
SCREW, 3/8-16 X 2 1 APPLY SEGREGATED PACK NO. 3 LABEL.
WASHER, 5/16 FLAT 36
NUT, 716 - 14 P. T. 4
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
NUT, 1/2-13P. T. 4 APPLY SEGREGATED PACK NO. 4 LABEL.
WASHER, 3/8 FLAT 38
MS90728-73 |SCREW, 3/8-16 X 3 3/4 1
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
NUT, 3/8- 16 P. T. 19 |APPLY SEGREGATED PACK NO. 5 LABEL.
SCREW, 5/16 - 18 X 2 3/4 6
PLACE INTO BAG. HEAT SEAL OR STAPLE AND
WASHER, SPECIAL 4 |APPLY SEGREGATED PACK NO. 6 LABEL.
NUT, 5/16 - 18 P. T. 18
[OON {MS90728-60 |SCREW, 3/8-16 X 1 4
CUSHION WRAP 6 X 12 SMALL AIR CAP AND APPLY
SPACER, REAR 9 SEGREGATED PACK NO. 7 LABEL.
ol SHIELD ASM., INTERMED. 1
i SHIELD ASM., REAR 1
> BRACKET, REAR MTG. 3

10f 3




€i0¢

"XOg8 AdNvd ANV 1IVN

"1SI1 ONIMOVd

V SY 133HS ONIMOVd SIHL 40 AdOD V¥ 3ANTONI
‘dOLl NO ¢-€9tLvvei 30V1d

Re15 400t} 748

ANV evLLprZl 40 dOL NO 0SLLvPel 30Vd
WA4YA4 74}

ANV 9¥L P2l OL1 1X3AN NOLHVO FHVMAUVYH 30V1d
vriivbel OL LXIN WOLLOG NO Ly LbPel 30Vd
PrLLPP2E OL LX3N WOLL08 NO 9vi vyl 30V1d
‘SL¥09¥21 OL LS3AN LSL.LPPZL OV d

‘evLLpbel J3IN0 vhLivbel 30Vd

‘eviivyel ¥3IN0 G1v09¥et 30V1d

‘WOLLO4 NO €vLLPP2l ONIAVOT A8 LHVLS

X049 AOOM NI

S1¥vd 40 dO1 NO 30V1d '31dV.LS "0 VIS LV3H
ANV ©9v4g OLNI 30V1d F1aVIIVAY IdV SONIMVYAEQA dI
" ONINOIHSNO MOVd AVd. HLIM A3dIN03Y

SV S134vd 31VYHVd3S HO dvdM NOIHSNO ANV
H3dVd 14vHH 34340 HLIM X048 40 NOLLOE INIT
v/L-4 X 82 X 19 H3ddIHS X089 AOOM V

OLNI SIN3LI ¥3HL0 717V ANV 3A08V NOL¥VD 30V'1d
"3dVL H3LVM ANV

NOL¥VD 620LdM V OLNI L MOVd d31vOIHO3S sNid
9 HONOYHL | SOVE MOVd A31LvOIHO3S 30V1d

sjaays ONIMYHA SNOILVTIV.LSNI

sjeays g SNOILONYLSNI SNOILVTIVLISNI

LNOY4 "WSVY @13IHS

Aivid dIMS

ISV HIJASNVHL ‘a13IHS

YNV1 13N4 ‘a13iHS

"LdNS 38N1 '13¥0vyg

HY - "OLN "ISV 13X0vy9g

[ R I V1 R B Bl Bl Bl

H1 - "O1N “INSV 13XOvyg

x 1% ¥ |* %

Ml
(HONIM HLIM €1 L LN ANV V866W) NOILO3LOYd AGO8H3IANN
y0/S2/e COYEMLG - LIM



g€jog

‘Q3”INDAY SV S138V1 NOILVYOIdILN3A!

ANV 3A09 dva ¥0 138V1 1M AlddV
i

(HONIM HLIM €L L LN NV V866W) NOILOTLO¥d AQOgH3ANN
v0/G2/€ CEYENLS - LM



